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FALRERI Y
code B Fedk~T % Hifs = B =& HE
1 [Eokidsgs A 0.20 52,900 10,580
3 [BokiEigE - A 1.00 34,500 34,500
4 [BKESRE i A 1.00 34,100 34,100
7 [EKEm {HREH A 1.00 18,400 18,400
BmEHE % 25.36 97,580 24,746
—REER % 23.86 122,326 29,186
& i 151,512




Eififi %

K ERRE TR SR 75

R (ELER)
JL=ufthouiEER1 B &Y

code KX Rtk T3k By Z Bi{f Eot] i
10 |82 ao—y—1-2& L 41,00 117.2 . 4,805
1 [EkiHEER A 0.20 51,000 10,200
3 |EkERE A 1.00 [ 33.300 33,300
4 |BKERE A 1.00 32,600 32,600
L= SuS 2t 2t/ CBERiaHD Brh 5.80 373 2.163
2t85 2t/ (I EEED A 1.23 4,740 5,830
ER R 2.0m3/min A 1.56 1,040 1,622 |15kW({20PS)
: & &t ] 90,520
el wirsd i = =)
code : AI R Hifiy = Hifff +%8 i
1 EkHEEE A 0.20 51,000 10,200
3 EKERE A 1.00 33,300 33,300
4 BKERE . A 1.00 32,600 |- 32,600
SL—AFTuY 263 207 (HLRIRH) =] 1.00 4,740 4,740
ECE e i1 ] 2.0m3/min =] 1.00 1,040 1,040 [15kW(20PS)
- & &t 81,880
NFE(ELER)
HL=Y{Fh5yp8EE1 B Y
code A Feikshik B = Bl £3E BE
10 |85/ o——1-28 L 41.00 117.2 -~ 4,805
1 |EAkEGEE A 0.20 51,000 10,200
3 |#EkdE#a A 1.00 33,300 33,300
4 |HIKEGE . A 1.00 32,600 32,600
GL— 1t owd 2138 208 GEERIEE) ALl 5.80 373 2,163
2138 205 (LR H) B 1.23 4,740 5.830
ESEmS 2.0m3/min H 1.56 1,040 1,622 |15kW(20PS)
& F 90,520
=uftbsysitA1A SY
code | - & AR~ By 2 EXrid el BE
1 [#EkiHesEE A 0.20 51,000 10,200 .
3 [BAKERE A 1.00 33,300 33,300
4 |BAKkERE - A 1.00 32,600 32,600
FL— A5y 2438 2t/ (L FRIEH) B 1.00 4,740 4,740
Eﬁlﬂféli . ‘ 2.0m3/min E] 1.00 1,040 1,040 {15kW(20PS)

81,880




KT R SRR AT

HifiZk
EiEEE WasEREELER)
A=yt by BER1 5 54
code X AT B4 HE Bi{fh w4 e
10 3% o—)—1:2& L 41.00 116.7 4,784
1 [Ekidsgs A 0.20 57,800 11,560
3 |BKEHRE A 1.00 |, 37,800 37,800
4 BKERA ' . A 1.00 37,100 37,100
L= AF+Iud 28 2t (EEGIRHD BFE 5.80 373 2,163
2t3% 2e/p (L AEH) H 1.23 4310 5,301
TR iEs 2.0m3/min 1.56 1,040 1,622 |15kW(20PS)
& &t ) , 100,330
=ity st 1 B &t -
code B [ HF = B £58 B
1 |EkHESE A ~ 020 57,800 11,560
3 |BKkERE A 1.00 37,800 37,800
4 EKESRE. - A 1.00 37,100 37,100
] e o i g 2t F (BLtREED =] 1.00 | 4,310 4310 .
TETES ' 2.0m3/min =] 1,00 1,040 1,040 [15kW(20PS)
. & &t 91,810
PO (R EXER)
SL—ufd by B8R B Y .
code |- B2 - Feiksti% Efivd = Bifff =5 BE
10 |0 o—y)—1:28 L 41.00 i117.0 4,797
1 |BKHERE A 0.20 52,600 10,520
3 |EBkERE . A 1.00 34,200 34,200
4 |BKEDE A 1.00 33,700 33,700
AL—2fRSy7 258 2/A GEEiRED 1] "5.80 . 373 2,163
2 2t/ (AR ED B 1.23 4,740 5,830
5 ERER 2.0m3/min 1.56 . 1,040 1,622 |15kW(20PS)
& § L ' 92,832
S=uidboypit R1 A Ay :
code B EiktiE Bifsr = Bl 5 BE
1 |EAKIEEER- A 0.20 52,600 10,520 .
3 |BAERE A 1.00 34,200 34,200
4 |BKkERE . A 1.00 33,700 33,700
L=t bTu 7 s 25 (EREED =] 1.00 4,740 4740 | '
oS TR 2.0m3/min B 1.00 1,040 1,040 [15kW(20PS)
& & 84,200




=Bt KR T4k R R
CEEICERE D)

M=oy inEiRi 4L :
code B BisrE B = ERi] &E - BE
10 |8 o—)—i-28 L 41.00 117.0 4797 -

1 |BKEER A 0.20 52,900 10,580
3 [BAGERB A 1.00 34,500 34,500
4 |BKESE ] A 1.00° 34,100 34,100
SL— Sy 13 2ol (EBEriRED fEdi] 5.80 373 2,163
2t38 2e (HLFREED H 1.23 4310 5,301
ERIEREE 2.0m3/min B 1.56 1,040 1,622 [15kW(20PS)
& F ‘ 93,063
I r wrrasdi = E- D)
code E T ekt Bifiy &= B =5 e
1 [EkiEs A 0.20 52.900° 10,580 i
3 |[BKEER A 1.00 34,500 34,500
4 IBKESE ' A 1.00 34,100 34,100
C L=y 238 2t/ (RIS ) A 1.00 4310 4,310
TRl 2.0m3/min =] 1.00 1,040 1,040 [15kW(20PS)
& &t - 84,530



